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class MyClarinet extends Clarinet {

fun void noteOn(int note, float volume) {
Std.mtof(note) => this.freq;
volume => this.noteOn;

}
MyClarinet clarinet => dac;

clarinet.noteOn(1.02);
second => now;
clarinet.noteOff(1.0);
second => now;
clarinet.noteOn(72, 1);
second => now;
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class BPM { // Beats Per Minute
static dur gn, en, hn;

fun void tempo(float beat) { // beat in BPM
60.0 / beat => float spb; // seconds per beat
spb::second => gn; // 1/4
an / 2.0 => en; // 1/8
gn * 2.0 = hn; // 1/2

}
class Play {

fun void play(StkInstrument instrument, string notes[], dur durs[]) {
for (0 => int i; 1 < notes.size(); i++)
playnote(instrument, notes[i], durs[i]);

}

fun void playnote(StkInstrument instrument, string note, dur duration) {
if (note != "--") {
Std.mtof(s2n(note)) => instrument.freq;
1 => instrument.noteOn;
}
duration => now;
1 => instrument.noteOff;

fun int s2n(string name) {
[21,23,12,14,16,17,19] @=> int notes[]; // A0,B0,C0,D0,EQ,F0,GO
name.charAt(®) - 65 => int base; // A=0,B=1,(=2,D=3 E=4 F=5,G=7
notes[base] => int note;
if (0 <= base && base <= 6) {

if (name.charAt(1) == "#' || name.charAt(1l) == 's') // sharp
notes[base] + 1 => note;
if (name.charAt(l) == 'b' || name.charAt(l) == 'f') // flat
notes[base] - 1 => note;
1
else
<<< "Illegal Note Name!" >>>;
name.charAt(name.length()-1) - 48 => int oct; // 0, 1, 2, ..., 9

if (0 <= oct && oct <= 9) {
12 * oct +=> note;
return note;
}
else
<<< "Illegal Octave!" >>>;
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BPM t;
t.tempo(150);
t.gn => dur gn;
t.hn => dur hn;
t.en => dur en;

Play p;

C

"F4","G4","A4" ,"F4", "F4","G4","A4","F4",
"A4","Bb4","C5", "A4","Bb4","C5",
"c5","D5","C5","Bb4","A4" ,"F4", "C5","D5","C5","Bb4","A4" ,"F4",
"F4","C4","F4","--", "F4","C4","F4","--"

] @=> string melody[];

C

an, an, gn, dan, an, an, gn, 4gn,

gn, agn, hn, gn, agn, hn,

en, en, en, en, gqn, gn, en, en, en, en, gqn, gn,
an, an, dan, dan, an, dan, 4an, 4gn

] @=> dur durs[];

Rhodey piano => dac;
p.play(piano, melody, durs);
t.gn * => now;
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// BPM.ck
public class BPM { // Beats Per Minute

static dur gn, en, hn;
fun void tempo(float beat) { // beat in BPM

/ beat => float spb; // seconds per beat
spb::second => gn; // 1/4

gn / 2.0 => en; // 1/8
gn * 2.0 = hn; // 1/2
}
}
// Play.ck

public class Play {

fun void play(StkInstrument instrument, string notes[], dur durs[]) {
for (0 => int i; i < notes.size(); i++)
playnote(instrument, notes[i], durs[i]);

}

fun void playnote(StkInstrument instrument, string note, dur duration) {
if (note !'= "--") {
Std.mtof(s2n(note)) => instrument.freq;
=> instrument.noteOn;
}
duration => now,
=> instrument.noteOff;

}

fun int s2n(string name) {
[21,23,12,14,16,17,19] @=> int notes[]; // A0,B0,C0,D0,E0Q,F0,G0O
name.charAt(?) - => int base; // A=0,B=1,(=2,D=3,E=4,F=5,G=7

notes[base] => int note;
if (0 <= base && base <= 6) {

if (name.charAt(l) == "#' || name.charAt(l) == 's') // sharp
notes[base] + 1 => note;
if (name.charAt(1l) == 'b' || name.charAt(1l) == 'f') // flat
notes[base] - 1 => note;
}
else
<<< "Illegal Note Name!" >>>;
name.charAt(name.length()-1) - => int oct; // 0, 1, 2, ..., 9

if (0 <= oct && oct <= 9) {
* oct +=> note;
return note;
}
else
<<< "Illegal Octave!" >>>;
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// melody.ck
BPM t;

t.gn => dur gn;
t.hn => dur hn;
t.en => dur en;

Play p;

C
"E4","GA"  "A4"  "F4"
"A4"  "Bb4A" (5",

"C5","D5","C5","Bb4", "A4", "F4"

"E4M MCAM UE4N Mot
] @=> string melody[];

L

an, an, gn, aqn,

an, an, hn,

en, en, en, en, gn,

gn, gn, gqgn, gn,
1 @=> dur durs[];

Rhodey piano => dac;

an,

p.play(piano, melody, durs);

"F4" "G4, "A4"  "F4"
"A4","Bb4","C5",

"C5","D5","C5","Bb4", "A4", "F4"

"E4" MC4M UFAM Mon

an, gn, an, gn,
an, agn, hn,

en, en, en, en, gn,
an, gn, gn, qn

an,

// score.ck
BPM t;
t.tempo(150);

// starter.ck

Machine.add(me.dir() + "BPM.ck");
Machine.add(me.dir() + "Play.ck");
Machine.add(me.dir() + "score.ck");
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Rhodey piano[4];
piano[0] => dac;
piano[1] => dac;
piano[2] => dac;
piano[3] => dac;

spork ~ p.play(piano[?], melody, durs);

t.gn * & => now;
spork ~ p.play(piano[1], melody, durs);
t.gn * & => now;
spork ~ p.play(piano[2], melody, durs);
t.gn * & => now;
spork ~ p.play(piano[3], melody, durs);
t.gn * => Now;

9. 2td3AE 2

Rhodey piano@ => dac;
Rhodey pianol => dac;
Rhodey piano2 => dac;
Rhodey piano3 => dac;

spork ~ p.play(piano@, melody, durs);

t.gn * & => now;
spork ~ p.play(pianol, melody, durs);
t.gn * & => now;
spork ~ p.play(piano2, melody, durs);
t.gn * & => now;
spork ~ p.play(piano3, melody, durs);
t.gn * => Now;

10. ¥

// score.ck

BPM t;

t.tempo(150);

Machine.add(me.dir() + "melody.ck");
t.gn * & => now;
Machine.add(me.dir() + "melody.ck");
t.gn * & => now;
Machine.add(me.dir() + "melody.ck");
t.gn * & => now;
Machine.add(me.dir() + "melody.ck");
t.gn * => Now;
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